

Beckner's inequality and its application to Banach spaces

新潟大学・理学部 斎藤 吉助 (Kichi-Suke Saito)

Department of Mathematics, Faculty of Science, Niigata University

新潟大学大学院・自然科学研究科 田中 亮太郎 (Ryotaro Tanaka)

Department of Mathematical Science,

Graduate School of Science and Technology, Niigata University

北海道教育大学・旭川校 小室 直人 (Naoto Komuro)

Department of Mathematics, Hokkaido University of Education Asahikawa campus

1 Introduction

The study of Banach space geometry provides basic concepts and tools in various fields of functional analysis. The origin of geometric properties defined for Banach spaces is probably the uniform convexity introduced by Clarkson. As the uniform convexity of the space L_p was shown by Clarkson's inequality, most of such geometric properties are closely related to various norm inequalities.

Theorem (Clarkson's inequality). *Let $1 < p \leq 2$ and $1/p + 1/p' = 1$. Then,*

$$(\|f + g\|^{p'} + \|f - g\|^{p'})^{1/p'} \leq 2^{1/p'} (\|f\|^p + \|g\|^p)^{1/p}$$

for all $f, g \in L^p$.

Theorem (Hanner's inequality). *If $1 < p \leq 2$ then*

$$\|f + g\|^p + \|f - g\|^p \geq \|\|f\| + \|g\|\|^p + \|\|f\| - \|g\|\|^p$$

for all $f, g \in L^p$, and if $2 \leq p < \infty$ then

$$\|f + g\|^p + \|f - g\|^p \leq \|\|f\| + \|g\|\|^p + \|\|f\| - \|g\|\|^p$$

for all $f, g \in L^p$.

In this note, we consider the following classical inequality which was proved by Beckner [2] (cf. [4, Lemma 1.e.14]).

Theorem 1.1. *Let $1 < p \leq q < \infty$, and let $\gamma_{p,q} = \sqrt{(p-1)/(q-1)}$. Then,*

$$\left(\frac{|u + \gamma_{p,q}v|^q + |u - \gamma_{p,q}v|^q}{2} \right)^{\frac{1}{q}} \leq \left(\frac{|u + v|^p + |u - v|^p}{2} \right)^{\frac{1}{p}}$$

for all $u, v \in \mathbb{R}$.

It is also known that $\gamma_{p,q}$ in Theorem 1.1 is the best constant, that is, if $a \geq 0$ and

$$\left(\frac{|u + av|^q + |u - av|^q}{2} \right)^{\frac{1}{q}} \leq \left(\frac{|u + v|^p + |u - v|^p}{2} \right)^{\frac{1}{p}}$$

for all $u, v \in \mathbb{R}$, then we have $a \leq \gamma_{p,q}$. We note that the case $0 \leq a \leq 1$ is essential in this direction. Indeed, letting $u = 0$ and $v = 1$ in the above inequality, we obtain $a \leq 1$. The proof of this fact can be found in the proof of [11, Theorem 6].

Our aim is to present an elementary proof of Theorem 1.1 and the above fact (cf. [3, 5, 6, 7]). It is needless to say that Theorem 1.1 is trivial if $p = q$. So we only consider the case $p \neq q$. Suppose that $1 < p < q < \infty$ and that $b \in [0, 1]$. Let A_b be the linear operator from $(\mathbb{R}^2, \|\cdot\|_p)$ into $(\mathbb{R}^2, \|\cdot\|_q)$ defined by

$$A_b = \begin{pmatrix} 1 & b \\ b & 1 \end{pmatrix}$$

and let $\|A_b\|_{p,q}$ denote the operator norm of A_b . Put $f_{p,q,b}$ be the real-valued function on $[0, 1]$ defined by

$$f_{p,q,b}(t) = \left(\left(t^{\frac{1}{p}} + b(1-t)^{\frac{1}{p}} \right)^q + \left(bt^{\frac{1}{p}} + (1-t)^{\frac{1}{p}} \right)^q \right)^{\frac{1}{q}}.$$

First, we prove the following two lemmas.

Lemma 1.2. $\|A_b\|_{p,q} = \max_{0 \leq t \leq 1/2} f_{p,q,b}(t)$.

Lemma 1.3. Let $a \in [0, 1]$ and let $b = (1-a)/(1+a)$. Then, the following are equivalent:

(i) The inequality

$$\left(\frac{|u + av|^q + |u - av|^q}{2} \right)^{\frac{1}{q}} \leq \left(\frac{|u + v|^p + |u - v|^p}{2} \right)^{\frac{1}{p}}$$

hold for all $u, v \in \mathbb{R}$.

(ii) $f_{p,q,b}(1/2) = \max_{0 \leq t \leq 1/2} f_{p,q,b}(t)$.

Now, let

$$\delta_{p,q} = \frac{1 - \gamma_{p,q}}{1 + \gamma_{p,q}} = \frac{\sqrt{q-1} - \sqrt{p-1}}{\sqrt{q-1} + \sqrt{p-1}} = \frac{p + q - 2 - 2\sqrt{(p-1)(q-1)}}{q - p},$$

and let $\alpha = 1/p$ and $\beta = q-1$, respectively. We note that $0 < \alpha < 1$ and $\beta+1 > \alpha\beta - \alpha + 1$. Henceforth, $\delta_{p,q}$ is simply denoted by δ .

Lemma 1.4. Let $b \in [0, \delta]$ and let $g_{1,b}$ be the real-valued function on $[0, 1]$ defined by

$$g_{1,b}(u) = -\beta bu^2 + (\alpha\beta + \alpha - 1)(1 + b^2)u - (2\alpha - 1)\beta b - 2(1 - \alpha)bu^{\frac{1}{1-\alpha}}.$$

(i) If $1 < p < 2$, then there exists a real number $u_0 \in (0, 1)$ such that $g_{1,b}(u_0) = 0$, $g_{1,b}(u) < 0$ for all $u \in [0, u_0)$, and $g_{1,b}(u) > 0$ for all $u \in (u_0, 1)$.

(ii) If $2 \leq p < \infty$, then $g_{1,b}(u) > 0$ for all $u \in (0, 1)$.

Lemma 1.5. Let $b \in [0, \delta]$ and let g_2 be the real-valued function on $[0, 1]$ defined by

$$g_{2,b}(s) = (\alpha\beta + \alpha - 1)(1 + b^2)s^\alpha - \alpha\beta b(s^{2\alpha-1} + s) - (1 - \alpha)b(s^{2\alpha} + 1).$$

(i) $g_{2,\delta}(s) \leq 0$ for all $s \in [0, 1]$.

(ii) If $0 \leq b < \delta$, then there exists a real number $s_0 \in (0, 1)$ such that $g_{2,b}(s_0) = 0$, $g_{2,b}(s) < 0$ for all $s \in [0, s_0)$, and $g_{2,b}(s) > 0$ for all $s \in (s_0, 1)$.

Lemma 1.6. Let $g_{3,b}$ be a real-valued function on $[0, 1]$ defined by

$$g_{3,b}(s) = (s^\alpha + b)^\beta (s^{\alpha-1} - b) + (bs^\alpha + 1)^\beta (bs^{\alpha-1} - 1).$$

(i) $g_{3,\delta}(s) \geq 0$ for all $s \in [0, 1]$.

(ii) If $0 \leq b < \delta$, then there exists a real number $s_1 \in (0, 1)$ such that $g_{3,b}(s_1) = 0$, $g_{3,b}(s) > 0$ for all $s \in [0, s_1)$, and $g_{3,b}(s) < 0$ for all $s \in (s_1, 1)$.

Proof of Theorem 1.1. Suppose that $b \in [0, \delta]$. Let g_b be the real-valued function on $[0, 1/2]$ defined by

$$g_b(t) = (f_{p,q,b}(t))^q = (t^{\frac{1}{p}} + b(1-t)^{\frac{1}{p}})^q + (bt^{\frac{1}{p}} + (1-t)^{\frac{1}{p}})^q.$$

The derivative of g_b is

$$g'_b(t) = \frac{q}{p}(1-t)^{\frac{q}{p}-1}g_{3,b}\left(\frac{t}{1-t}\right).$$

By Lemma 1.6 (i), we have $g'_\delta(t) \geq 0$ for all $t \in [0, 1/2]$. Thus the function g_δ is nondecreasing on $[0, 1/2]$, and hence we obtain $g_\delta(1/2) = \max_{0 \leq t \leq 1/2} g(t)$. This means that $f_{p,q,\delta}(1/2) = \max_{0 \leq t \leq 1/2} f_{p,q,\delta}(t)$. Thus, by Lemma 1.3, we have

$$\left(\frac{|u + \gamma_{p,q}v|^q + |u - \gamma_{p,q}v|^q}{2}\right)^{\frac{1}{q}} \leq \left(\frac{|u + v|^p + |u - v|^p}{2}\right)^{\frac{1}{p}}$$

for all $u, v \in \mathbb{R}$. This proves Theorem 1.1.

Finally, we show that $\gamma_{p,q}$ is the best constant for Beckner's inequality. Suppose that $\gamma_{p,q} < a \leq 1$. Let $b = (1 - a)/(1 + a)$. By Lemma 1.3, it is enough to prove that $f_{p,q,b}(1/2) < \max_{0 \leq t \leq 1/2} f_{p,q,b}(t)$. To this end, we remark that $0 \leq b < \delta$. By Lemma 1.6 (ii), g_b is strictly increasing on $[0, s_2]$ and strictly decreasing on $[s_2, 1/2]$, where $s_2 = s_1/(1 + s_1)$.

t	0	$\cdots$	s_2	$\cdots$	1/2
g'_b		+	0	-	
g_b		$\nearrow$		$\searrow$	

From this fact, we have $f_{p,q,b}(1/2) < f_{p,q,b}(s_2) = \max_{0 \leq t \leq 1/2} f_{p,q,b}(t)$. The proof is complete. $\square$

2 Application to Banach spaces

In this section, we consider an application of Beckner's inequality. First, we extend Beckner's inequality to normed linear spaces.

Theorem 2.1 (Lindenstrauss and Tzafriri [4]). *Let X be a normed linear space. Suppose that $1 < p \leq q < \infty$ and $\gamma_{p,q} = \sqrt{(p-1)/(q-1)}$. Then,*

$$\left(\frac{\|x + \gamma_{p,q}y\|^q + \|x - \gamma_{p,q}y\|^q}{2} \right)^{1/q} \leq \left(\frac{\|x + y\|^p + \|x - y\|^p}{2} \right)^{1/p}$$

for all $x, y \in X$.

Proof. Take arbitrary $x, y \in X$. Put

$$z = x + y \quad \text{and} \quad w = x - y,$$

respectively. Putting

$$u = \frac{\|z\| + \|w\|}{2} \quad \text{and} \quad v = \frac{\|z\| - \|w\|}{2},$$

then we have

$$\begin{aligned} & \left(\frac{\|x + \gamma_{p,q}y\|^q + \|x - \gamma_{p,q}y\|^q}{2} \right)^{1/q} \\ & \leq \left(\frac{1}{2} \left(\frac{1 + \gamma_{p,q}}{2} \|z\| + \frac{1 - \gamma_{p,q}}{2} \|w\| \right)^q + \frac{1}{2} \left(\frac{1 - \gamma_{p,q}}{2} \|z\| + \frac{1 + \gamma_{p,q}}{2} \|w\| \right)^q \right)^{1/q} \\ & = \left(\frac{|u + \gamma_{p,q}v|^q + |u - \gamma_{p,q}v|^q}{2} \right)^{1/q} \leq \left(\frac{|u + v|^p + |u - v|^p}{2} \right)^{1/p} \\ & = \left(\frac{\|z\|^p + \|w\|^p}{2} \right)^{1/p} = \left(\frac{\|x + y\|^p + \|x - y\|^p}{2} \right)^{1/p}, \end{aligned}$$

by Beckner's inequality. □

From this result, we remark that in any normed linear space, $\gamma_{p,q}$ is the best constant for Beckner's inequality.

Finally, we see an application of Beckner's inequality to Banach spaces. We recall some notions about q -uniform convexity and p -uniform smoothness.

Definition 2.2. *A Banach space X is said to be uniformly convex if*

$$\delta_X(\varepsilon) = \inf \left\{ 1 - \left\| \frac{x + y}{2} \right\| : x, y \in S_X, \|x - y\| = \varepsilon \right\} > 0$$

for all $\varepsilon \in (0, 2]$. The value $\delta_X(\varepsilon)$ is called the modulus of convexity of X .

Definition 2.3. *Let $2 \leq q < \infty$. Then, a Banach space X is said to be q -uniformly convex if there exists a positive number C such that $\delta_X(\varepsilon) \geq C\varepsilon^q$ for all $\varepsilon \in [0, 2]$.*

Clearly, q -uniform convexity implies uniform convexity.

Definition 2.4. A Banach space X is said to be uniformly smooth if

$$\lim_{\tau \rightarrow 0^+} \frac{\rho_X(\tau)}{\tau} = 0,$$

where $\rho_X(\tau)$ is the modulus of smoothness of X defined by

$$\rho_X(\tau) = \sup \left\{ \frac{\|x + \tau y\| + \|x - \tau y\|}{2} - 1 : x, y \in S_X \right\}$$

for all $\tau \geq 0$.

Definition 2.5. Let $1 < p \leq 2$. Then, a Banach space X is said to be p -uniformly smooth if there exists a positive number K such that $\rho_X(\tau) \leq K\tau^p$ for all $\tau \geq 0$.

It is obvious that p -uniform smoothness implies uniform smoothness. The following is an well known characterization of p -uniform smoothness; see, for example, [1].

Theorem 2.6. Let X be a Banach space and let $1 < p \leq 2$. Then, the following are equivalent:

- (i) X is p -uniformly smooth.
- (ii) There exists a positive number K such that

$$\frac{\|x + y\|^p + \|x - y\|^p}{2} \leq \|x\|^p + \|Ky\|^p$$

for all $x, y \in X$.

- (iii) For any positive number $s \in [1, \infty)$, there exists a positive number K_s such that

$$\left(\frac{\|x + y\|^s + \|x - y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|K_s y\|^p)^{1/p}$$

for all $x, y \in X$.

- (iv) There exist positive numbers $s \in [1, \infty)$ and K_s such that

$$\left(\frac{\|x + y\|^s + \|x - y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|K_s y\|^p)^{1/p}$$

for all $x, y \in X$.

Proof. (i) $\Rightarrow$ (ii): Suppose that X is p -uniformly smooth. Then, there exists a positive number K_1 such that $\rho_X(\tau) \leq K_1\tau^p$ for all $\tau \geq 0$. For each $x \in S_X$ and each $y \in B_X \setminus \{0\}$, we have

$$\frac{\|x + y\| + \|x - y\|}{2} - 1 \leq \rho_X(\|y\|) \leq K_1\|y\|^p,$$

Put

$$\alpha = \frac{\|x + y\| + \|x - y\|}{2} \quad \text{and} \quad \alpha\beta = \frac{\|x + y\| - \|x - y\|}{2},$$

respectively. Then we have

$$\|x + y\| = \alpha + \alpha\beta \quad \text{and} \quad \|x - y\| = \alpha - \alpha\beta$$

and

$$\begin{aligned} & \left(\frac{\|x + y\|^p + \|x - y\|^p}{2} \right)^{1/p} - (1 + K_1\|y\|^p) \\ & \leq \left(\frac{\|x + y\|^p + \|x - y\|^p}{2} \right)^{1/p} - \frac{\|x + y\| + \|x - y\|}{2} \\ & \leq \alpha \left(\left(\frac{(1 + \beta)^p + (1 - \beta)^p}{2} \right)^{1/p} - 1 \right) \\ & \leq \alpha \left(\left(\frac{(1 + \beta)^2 + (1 - \beta)^2}{2} \right)^{1/2} - 1 \right) \\ & \leq \alpha((1 + \beta^2) - 1) = \alpha\beta^2. \end{aligned}$$

On the other hand, we have

$$(\alpha\beta)^2 = \left(\frac{\|x + y\| - \|x - y\|}{2} \right)^2 \leq \left(\frac{\|x\| + \|y\| - (\|x\| - \|y\|)}{2} \right)^2 = \|y\|^2$$

and

$$\alpha = \frac{\|x + y\| + \|x - y\|}{2} \geq \frac{\|x + y + (x - y)\|}{2} = 1.$$

Thus we obtain

$$\begin{aligned} \frac{\|x + y\|^p + \|x - y\|^p}{2} & \leq ((1 + K_1\|y\|^p) + \alpha\beta^2)^p \\ & \leq (1 + K_1\|y\|^p + \|y\|^2)^p \\ & \leq \|x\|^p + \|Ky\|^p \end{aligned}$$

for some $K > 0$. From this, one can show that (ii) holds.

(ii) $\Rightarrow$ (iii): Let $1 \leq s < \infty$. Then, by Beckner's inequality, we have

$$\begin{aligned} \left(\frac{\|x + My\|^s + \|x - My\|^s}{2} \right)^{1/s} & \leq \left(\frac{\|x + y\|^p + \|x - y\|^p}{2} \right)^{1/p} \\ & \leq (\|x\|^p + \|Ky\|^p)^{1/p} \end{aligned}$$

for all $x, y \in X$, where $M = \min\{1, \gamma_{p,s}\}$. Thus, putting $K_s = KM^{-1}$ and replacing y with $M^{-1}y$, we obtain

$$\left(\frac{\|x + y\|^s + \|x - y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|K_sy\|^p)^{1/p}$$

for all $x, y \in X$.

(iii) $\Rightarrow$ (iv): Obviously holds.

(iv) $\Rightarrow$ (i): Suppose that (iv) holds. Then, there exist positive numbers $s \in [1, \infty)$ and K_s such that

$$\left(\frac{\|x+y\|^s + \|x-y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|K_s y\|^p)^{1/p}$$

for all $x, y \in X$. Let $x, y \in S_X$ and $\tau \geq 0$. It follows that

$$\begin{aligned} \frac{\|x+y\| + \|x-y\|}{2} &\leq \left(\frac{\|x+y\|^s + \|x-y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|K_s y\|^p)^{1/p} \\ &\leq 1 + \frac{(K_s \tau)^p}{p}, \end{aligned}$$

and hence $\rho_X(\tau) \leq (K_s^p/p)\tau^p$. This proves (iv) $\Rightarrow$ (i). $\square$

It is well known that uniform convexity and uniform smoothness are dual properties of each other. A similar fact is true for q -uniform convexity and p -uniform smoothness. To see this, we need the following lemma.

Lemma 2.7 (Takahashi-Hashimoto-Kato [9]). *Let X be a Banach space. Suppose that $1 < p \leq 2$, $1 \leq s < \infty$, $1/p + 1/q = 1$, $1/s + 1/t = 1$ and $K > 0$. Then, the following are equivalent:*

(i) *The inequality*

$$\left(\frac{\|x+y\|^s + \|x-y\|^s}{2} \right)^{1/s} \leq (\|x\|^p + \|Ky\|^p)^{1/p}$$

hold for all $x, y \in X$.

(ii) *The inequality*

$$\left(\frac{\|f+g\|^t + \|f-g\|^t}{2} \right)^{1/t} \geq (\|f\|^q + \|K^{-1}g\|^q)^{1/q}$$

hold for all $f, g \in X^$.*

The same is true if X is replaced with X^ .*

Theorem 2.8. *Let X be a Banach space and let $2 \leq q < \infty$. Then, the following are equivalent:*

(i) *X is q -uniformly convex.*

(ii) *There exists a positive number C such that*

$$\frac{\|x+y\|^q + \|x-y\|^q}{2} \geq \|x\|^q + \|Cy\|^q$$

for all $x, y \in X$.

(iii) For any $t \in (1, \infty]$, there exists a positive number C_t such that

$$\left(\frac{\|x+y\|^t + \|x-y\|^t}{2} \right)^{1/t} \geq (\|x\|^q + \|C_t y\|^q)^{1/q}$$

for all $x, y \in X$.

(iv) There exist positive numbers $t \in (1, \infty]$ and C_t such that

$$\left(\frac{\|x+y\|^t + \|x-y\|^t}{2} \right)^{1/t} \geq (\|x\|^q + \|C_t y\|^q)^{1/q}$$

for all $x, y \in X$.

Finally, we have the following result.

Corollary 2.9. *Let X be a Banach space.*

(i) *X is p -uniformly smooth if and only if X^* is q -uniformly convex.*

(ii) *X is q -uniformly convex if and only if X^* is p -uniformly smooth.*

The results in this section are summarized as follows:

$$\begin{array}{ccccc} p\text{-uniformly smooth} & \Rightarrow & \text{uniformly smooth} & \Rightarrow & \text{smooth} \\ \uparrow & & \uparrow & & (\updownarrow) \\ q\text{-uniformly convex} & \Rightarrow & \text{uniformly convex} & \Rightarrow & \text{strictly convex} \end{array}$$

The smoothness and strict convexity are dual properties of each other if the space is reflexive.

References

- [1] B. BEAUZAMY, *Introduction to Banach space and Their geometry*, Second edition, North-Holland, Amsterdam, 1985.
- [2] W. BECKNER, *Inequalities in Fourier analysis*, Ann. of Math., **102** (1975), 159–182.
- [3] K. KURIYAMA, M. MIYAGI, M. OKADA AND T. MIYOSHI, *Elementary proof of Clarkson's inequalities and their generalization*, Memories of the Faculty of Engineering, Yamaguchi Univ., **48** (1997), 119–125.
- [4] J. LINDENSTRAUSS AND L. TZAFRIRI, *Classical Banach spaces II*, Springer-Verlag, Berlin, 1979.
- [5] K.-I. MITANI AND K.-S. SAITO, *Dual of two dimensional Lorentz sequence spaces*, Nonlinear Anal., **71** (2009), 5238–5247.
- [6] K.-I. MITANI, K.-S. SAITO AND T. SUZUKI, *On the calculation of the James constant of Lorentz sequence spaces*, J. Math. Anal. Appl., **343** (2008), 310–314.

- [7] H. MIZUGUCHI AND K.-S. SAITO, *A note on Clarkson's inequality in the real case*, J. Math. Inequal., **4** (2010), 129–132.
- [8] L. SCHWARTZ, *Geometry and Probability in Banach spaces*, Lecture Notes in Math. No. 852, Springer-Verlag, Berlin-New York, 1981.
- [9] Y. TAKAHASHI, K. HASHIMOTO AND M. KATO, *On sharp uniform convexity, smoothness, and strong type, cotype inequalities*, J. Nonlinear Convex Anal., **3** (2002), 267–281.
- [10] R. TANAKA, K.-S. SAITO AND N. KOMURO, *Another approach to Beckner's inequality*, to appear in J. Math. Inequal.
- [11] Y. YAMADA, Y. TAKAHASHI AND M. KATO, *On Hanner type inequalities with a weight for Banach spaces*, J. Math. Anal. Appl., **324** (2006), 1228–1241.